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ADDING AND SUBTRACTING Write the expression as a complex number in
standard form.

37. 2+ 3) + (7T +1i) 38. (6 +2))+(5—1)

39. (=4 + 7i) + (=4 = 7i) [30)(—=1 - i) + (9 -3

41. (8 +5i) — (1 + 29 (2—6i)—(—10+4i)

43. (0.4 + 0.9/) — (—0.6 + i) 44. (25 + 15i) — (25 — 61)

45. —i + (8 —2i) — (5 —9i) 46. (30 — i) — (18 + 6i) + 30i
IVIULTIPLYING Write the expression as a complex number in standard form.
47. i3 + i) @4:’(6 - 49. —10i(4 + 7i)
50. (5 +i)(8 +1i) 51. (=1 +2)(11 — ) @(2 —9i)(9 — 6i)
53. (7 + 5i)(7 — 5i) 54. (3 + 104)° 55. (15 — 8i)*

DIVIDING Write the expression as a complex number in standard form.

8 2 -5 —3i 34i

56. 57) 2 58. —- 59. 31
2+5i —7+6i VIO 6—iV3

80. 52 9—4i 82. o —i 83 6 +iva




